(_gg ?p o * Q%
a2 {((0 (@ @ Multiply decimals by 10,100,1000

Name: Date: Score:
2.233 x 100 = 5.403 x 1000 =
3.688 x 1000 = 2.845 x 100 =
4.986 x 10 = 4.875 % 100 =
2815 x 10 = 4.742 x 100 =
7.032 x 100 = 7.566 x 10 =
5.279 x 1000 = 285x10=
9.97 x 10 = 10.726 x 10 =
5.666 x 1000 = 4.963 x 10 =
4.409 x 1000 = 1.437 x 1000 =
1.334 x 100 = 3.144 x 10 =
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— fp/o ({_% g Multiply decimals by 10,100,1000

Name: Date: Score:
2.233 x 100 = 223.3 5.403 x 1000 = 5403
3.688 x 1000 = 3688 2.845 x 100 = 284.5
4.986 x 10 = 49.86 4.875 x 100 = 487.5
2.815 %10 = 28.15 4.742 x 100 = 474.2
7.032 x 100 = 703.2 7.566 x 10 = 75.66
5.279 x 1000 = 5279 2.85x10=28.5
9.97 x 10 = 99.7 10.726 x 10 = 107.26
5.666 x 1000 = 5666 4.963 x 10 = 49.63
4.409 x 1000 = 4409 1.437 x 1000 = 1437
1.334 x 100 = 133.4 3.144 x 10 = 31.44
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